S
K11111
=
c| &
2 e 3| &
= w| £
gl | |2
S S| E
ol O |3]|=
S| v [Efc
e °| <
n =8
: o)
: €
m a
(%]
m <
m_.o_.
~
T|— 3
S 8
0 (&)
m : Q.
et o| o : A
maV.C : :
S| 2l E| @ : U
Bu.pnm t ;
>| o| o| © K n :
(=1 -9
x| x|T : e N
e |§|. |5
= i
: EEE
: Q. o| @ 2
: 1+ dSQ
M. X (w30
O |8|«|5
£|2lz
<
0_1 mCD
ol
£l
@l 2
c | >
w0




Ne ApTUKYN HanmeHoBaHue Kon
7 Haknagka 1
8 CKkoba ynpasneHus 1
9 KonbLo ctonopHoe 1
10 [909-150-009 |[Tpoc 1
11 Malika 2
12 lalika-6apalek 2
13 bont 2
14 Pyyka HMXHAA 1
15 Pyuka BepxHAaA 1
16 KpoHwTenH 2
17 Maiika M10 4
18 bont M10x25 4
Mogenb
Ckapudukartop SC51

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYN HanmeHoBaHue Kon
11 Malika M8 4
17 Maiika M10 5
18 bont M10x25 4
22 Maiika M6 2
23 WnanHT 2
24 Ocb 1
25 MnacTtnHa 3aWwmTHaA 1
26 BTtynka 2
27 bont M8x75 2
28 bont M10x60 1
29 |909-150-028 |MpyxuHa 1
30 KpoHwTenH 1
31 LWaiba 1
32 bont M8x40 4
33 bont M6x16 2
34 Kopnyc 1
35 KpoHLwTenH 2
36 Ocb nepeaHan 1
37 bont M8x20 4
38 KpoHLTEeNH Koneca 2
39 KpoHwTenH 1
40 Polyar 1
41 LWalba 2
42 PykoATka 1
43 laka M8 2
Mogenb
Ckapudukartop SC51
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
11 Malika M8 2
17 Maiika M10 1
23 WnanHT 1
41 LWalba 1
44 laiika M8 4
45 MogwnnHuk 8
46 LWalba 2
47 LWaiba 4
48 Konnak 4
49 |909-150-080 |[Koneco B cbope 4
50 Tara 2
51 bont M8x25 2
52 Ocb nepeaHan 1
53 CoeguHutens 1
55 [909-150-085 |LLUKnB BeayLmni 1
56 BuHT M6%10 1
57 Bbont M10x50 1
58 KpoHwTenH 1
59 BTynka 1
60 [909-150-090 |Ponuk HaTaxKuTenA 1
61 MogwnnHuk 2
62 Konbuo ctonopHoe 1
63 KoXyx pemHsa 1
65 [909-150-095 |PemeHb 1
66 LWanba 2
Mogenb
Ckapudukartop SC51
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




Ne ApTUKYN HanmeHoBaHue Kon
11 Maiika M6 6
22 Malika M8 6
33 bont M6x16 4
68 Hox 42
69 BTynka 2
70 Wrnot 16
71 Ocb 4
72 bont M8x20 6
73 KpbilWwKa Kopnyca NoALWMNHMUKA 2
74 KpoHwTenH 1
75 KpbilWwKa Kopnyca NoAWNNHUKA 2
76 |909-150-109 |Kopnyc noawmnHmKa 2
77 Ocb ocHOBHaA 1
78 bont M6x20 2
79 bont M6x20 2
80 [909-150-113 |LUkmB BegombIi 1
81 |909-150-115 |lUnoHKa 1
82 Laiba 4
83 BTynka 48
84 KpoHLwTenH 1
Mogenb
Ckapudukartop SC51
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 5




